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2 3/29 VT RAVE BB 8 2 1 5 3 5 9 1 1 13 1
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12 5/2 V7 knvs & 8 1 2 6 7 9 0 3 6 0
13 5/5 %% &1 5 0 9 7 6 2 0 5 8 1
14 5/9 @R &y 4 0 5 7 7 6 0 0 6 2
15 [5/13 &% =0 7 2 0 10 6 7 7 1 4 7 1
16 5/18 AL B 7 1 3 12 6 8 6 0 2 10 1
17 5/20 FUws R &1 2 0 3 5 6 9 1 3 2 0
18 5/28 FYws 2R &3 7 0 4 6 5 12 0 5 9 0
19 5/31 AL &l 6 0 1 3 5.33 10 0 1 0
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9 JlotteTree = rpart(fF8T ~ ;R — 4L 5+ » b +PUSE PR+ = iR+ A 1T & &1,
10 data = lotte, @method = "class?)

11 plot(lotteTree, uniform = T, branch = 1, margin = 0.1)

12 text(lotteTree, all = T, use.n = T)
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lotteTree2 = rpart(f5 B ~ 5 F iz KO+ ?J*R’:f;:ﬂ i 2 ¢T+%@§Eﬂ? E=-R+T 5 —,

data = Totte, method = "class”
plot(lotteTree2, uniform = T, hranch =1, margin = 0.1)
text(lotteTree2, all = T, use.n = T)
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50 TlotteTreed4 = rpart(fFET ~ HSIFRE+EHE I+ L H+IEE+IKE,
51 data = lotte, method = "class')

52 plot(lotteTree4, uniform = T, branch = 1, margin = 0.1)
53 text(lotteTreed4, all = T, use.n = T)
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